5.2 Change from y=a(x-h)2+k to y=ax2+bx+c (Spring 2017)-s17 April 25, 2017

Before we begin, are there any questions from last day's work?
pp. 239-240 #5,7, 10, 12

Today's Learning Goal(s):

By the end of the class, | will be able to:

a) convert a quadratic relation from vertex form to standard form.
b) use standard form: y = ax2+bx + ¢

Reminder: Tomorrow SWYK on Expanding Binomials
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to Standard Form [y = ax2 + bx + ¢]

Ex 1. Given the equation y= 2( xX— 3)2 —& (in vertex form),

a) sketch it on the grid provideN, ’ﬁ Y
vertex - 7
/7
opens _{4 O ka / /
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b) convert the equation to standard form.
y=a2+bx+c
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A= L“"/& Cc= J@
c¢) the value of “c” in standard form represents the ‘4, | ’] Y\ C eb'é on the graph.
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Ex 2. Given the equation y = —( X+ 2)2 + 7 (in vertex form),
a) sketch it on the grid provided. A
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b) convert the equation to standard form.
y=ax2+bx+c
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¢) the value of “c” in standard form represents the (g - [ h {fr&egt on the graph.
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Summary
Given a quadratic relation in vertex form, y = al? + k, the coordinates of the vertex areh( k).
Given a quadratic relation in standard form, yx & bx + ¢, the y-intercept is ‘c’.
The value of ‘a’ in both forms is the same.

Entertainment: pp. 245-247 #1a,2e,3d,4c,6,7ab, 11

Challenge.: #14
Exit Cards!

Each student must submit 3d and 4c¢ before they leave.
SWYK Tomorrow on Expanding Binomials

Sample Questions for Expand and Simplify Quiz:
a) —4(2x-1) b) (x+2)(x-3) c) ‘5@2
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